
INSTALLATION GUIDE
civic x downpipe

Tools Required:
Trim removal tool
5mm Allen socket 
5.5mm socket
10mm socket
14mm socket 
3/8ths Ratchet
Variety of swivels and extensions 
3/8ths impact (recommended not necessary) 
O2 Socket or 22mm Wrench 

WHat’s in the box:
(1) MAP Civic X Downpipe 
(3) M10x1.25 x 42mm Stud
(3) M10x1.25 Flange Nut
(4) M10x1.25 Copper Flange Locking Nut
(1) (OPTIONAL) Honda Turbo Gasket 
(3) (OPTIONAL) Heat Shield Clip Nuts
(3) (OPTIONAL) Heat Shield M6 Bolts

1. Remove Undertray (trim tool, 10mm, and 
5mm allen socket)

2A-B. Remove 3 downpipe to front pipe nuts (14mm)



3A-C. Remove 4 bracket bolts and bracket holding the downpipe to the engine block (14mm)

4A-B. Move uptop and remove the intake tube (2 5.5mm clamps)

2

5A-B. next you remove the 3 10mm bolts holding the downpipe heat shield on. One is under the intake tube and the other 2 are 
lower down in the front. They should be easy to spot, but we were unable to get a good picture of them inside the car 



3

6A-B. Disconnect the 02 sensor connectors 

7. Remove 4 downpipe-to-turbo bolts and nuts (14mm) note we have experienced these studs have a tendancy to snap. The use of 
impact tools has proved to be successful in not breaking these studs 

8A-D Wiggle the stock downpipe out, this is easiest from the bottom as you will need to move the front pipe out of the way
It may be needed to unhook the front pipe from its hanger to give you more room to move 



9. Remove 02 sensor and install it into your new downpipe - If you are using our downpipe 
with a heat shield, wait on installing the 02 sensor until you have installed the heat shield 

4

8A-d. continued

10A-D. Install new downpipe, replace the used nuts with included hardware and reinstall bolts. Be sure the gasket is in place 
and all nuts and bolts are tight

10A-D. continued



5

10-3. slide oem heat shield in the 
through the bottom 

11. install included downpipe studs 12. install included downpipe nuts 

Optional heat shield install: 10-1. install clip nuts onto the tabs 10-2. remove 02 sensor bracket 

10-4. secure using provided hardware 10-5. reinstall 02 sensor 

13. reinstall downpipe bracket and 
bolts 



6

14. reconnect 02 sensor connectors 

THank you for choosing maperformance!

If you have any problems or concerns during installation of this product, feel free to call or email us: 

1-888-MAPERFORMANCE
sales@maperformance.com

Show us some photos! @maperformance / #maperformance

15. reinstall intake tube 16. reinstall lower splash shield


